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9.4648
+9.4644

7.863
+6.3001

6.3579
+4.0/59

0.1753
+/7.8157

7.729
+2.6092

5.7632
+5.5693

8.8898
+9.847

1.8314
+5.0808
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DA E

8.8226
+2.7/726

5.5626
+/.6567/

7.398
+4.819

2.9485
+4.860
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NEUR AR 2,8

k4

9.4648
+9.4644

18.9292

7.863
+6.3001

6.3579
+4.0/59

14.1691

0.1753
+/7.8157

7.991

5.7632
+5.5693

11.3325

10.4338

7.729
+2.6092

10.3382

8.8898
+9.847

18.7368

1.8314
+5.0808

6.9122
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H #A:

DEC

8.8226
+2.7726

11.5952

5.5626
+/.6567/

13.2193

7.398
+4.819
12.217

2.9485
+4.860

7.8145
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